
832

SPECIAL 
LEVELLING 
GLIDE

HEAVY 
DUTY 
LEVELLING 
GLIDES

MEDIUM-
SIZED 
LEVELLING 
GLIDES

SMALL 
LEVELLING 
GLIDES

BASE FOR 
LEVELLING 
GLIDES

CASE 
FEET

BASE

L
E

V
E

L
L

IN
G

 G
L

ID
E

S
 &

 
B

A
S

E STAINLESS STEEL GLIDE BASE AP36

3×φ4.2

d

120˚12
0˚

H
hφ36

(φD)

PCD.27

120˚

M12

AP36-M12 shown.

RoHS CAD Item Code Item Name Material Finish d D h H Weight (g) Box (pcs) Carton (pcs)

200-140-501 AP36-M8
Stainless 

Steel 
(SUS304)

Barrel 
Polished

M8 9.6

1.5 12

13 100 1000

200-140-502 AP36-M10 M10 11 13 100 1000

200-140-503 AP36-N3 3/8-16UNC 10.9 12 100 1000

200-140-504 AP36-M12 M12 13.9 2 11.5 19 80 800

GLIDE BASE AD-559

d

φ35 3
14

φ18

s-ad55d02.eps

3×φ3.6

25

RoHS CAD Item Code Item Name Material Finish d Weight (g) Box (pcs) Carton (pcs)

200-141-310 AD-559M12
Zinc Alloy 

(ZDC)
Clear Zinc 
Chromate

M12 26.5 100 400

200-141-311 AD-559M14 M14 23.5 100 400

200-140-073 AD-559U1/2 1/2-20UNF 24.6 100 400

GLIDE BASE AS-AJ

SUGATSUNE

80
55

15

8
0 5

5
3

2
2

3
t

32

M

23

1
5

5×φ5.5●Used for installing levelling glides and threaded bolt type casters to aluminium 

frame.

●AS parts set for installing to aluminium frame also available. Content of the 

parts set is as follows.

RoHS CAD Item Code Item Name M t Material Finish Weight (g) Box (pcs) Carton (pcs)

200-140-455 AS-AJ-M10 M10
6 Stainless Steel 

(SUS430)
Barrel 

Polished

278 50 –

200-140-456 AS-AJ-M12 M12 276 50 –

200-140-457 AS-AJ-M16 M16 9 414 30 –

[Dimensions]

[Installation]

SUGATSUNE

4
0

4
0

1
0

1
0

6
9

40

AS nut

AS nut

M5

M5

4
0

SUGATSUNE

3
0

30

AS nut

AS nut

M5

M5

40×40 mm 
aluminium frame
Installation example

30×30 mm 
aluminium frame
Installation example

Levelling glide Caster

RoHS CAD Item Code Item Name
Aluminium 

Frame
Parts

Weight 
(g)

– 200-041-678 AS-AJ-M10-8
Groove 
Width
8 mm

Glide Base AS-AJ-M10  : 1 pc
AS Nut AS-8M5  : 5 pcs
M5×16 Hexagon Socket Head Cap Screw : 5 pcs

–

– 200-041-679 AS-AJ-M10-10
Groove 
Width
10 mm

Glide Base AS-AJ-M10  : 1 pc
AS Nut AS-10M5  : 5 pcs
M5×16 Hexagon Socket Head Cap Screw : 5 pcs

–

– 200-041-680 AS-AJ-M12-8
Groove 
Width
8 mm

Glide Base AS-AJ-M12  : 1 pc
AS Nut AS-8M5  : 5 pcs
M5×16 Hexagon Socket Head Cap Screw : 5 pcs

–

– 200-041-681 AS-AJ-M12-10
Groove 
Width
10 mm

Glide Base AS-AJ-M12  : 1 pc
AS Nut AS-10M5  : 5 pcs
M5×16 Hexagon Socket Head Cap Screw : 5 pcs

–

– 200-041-682 AS-AJ-M16-8
Groove 
Width
8 mm

Glide Base AS-AJ-M16  : 1 pc
AS Nut AS-8M5  : 5 pcs
M5×20 Hexagon Socket Head Cap Screw : 5 pcs

–

– 200-041-683 AS-AJ-M16-10
Groove 
Width
10 mm

Glide Base AS-AJ-M16  : 1 pc
AS Nut AS-10M5  : 5 pcs
M5×20 Hexagon Socket Head Cap Screw : 5 pcs

–

Refer to   : FRONT P.20

Parts Set for Installing to Aluminium Frame Please refer to the series introduction page  for details about AS series.

Parts set of glide base, screws and AS nuts used for installing to aluminium frame.[AS Parts Set]

Updated 2017.10.27


